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- () Point oul the main objectives of Dinspersion
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(b) Define dependent events.
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(d) What is addition theorem ?
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Before answering the queshﬂns candidates should ensure that they have

been supplied the correct and complete question paper. No complaint in
this regard, will be entertatned after examination.
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(e) Define Sheppard's corrections.
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o L (f) Define cumulative frequency curve.
Note : Attempt five questions in all, selecting one question

from each Unit. Question No. 1 is compulsory. All
questions carry equal marks.
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(g) Difference between classification and tablulation.
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2. What is statistics ? How it ig helpful for

business decisions ? "
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3. (@) Represent the following datz bv means b4

histogtam.
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- What do You understand by Dispersion ? Expl

- The median and mode of

apian the requisies of a good QUESHONN.LY .
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different methods of measuring Dispersion,

the following wage

distribution of 23p workers are known to be Rs. 33.5
an )
d Rs. 34 respectively. Three frequency values form

the ¢ -
able however are missing. Find the missing
values :
16
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6. Given the following data : 16
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A 1 10 2
B | 1 5 X 2
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Find \ if the ratio between Laspeyre's and Paasche's

index numberis L:P::28:27.
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7. (2) Define Skewness. How does it differ from

dispersion ? 3
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(b) Explain different measures of skewness. 8
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8. Explain with examples the addition and multiplication
theorems of probability. 16
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g, \ person is known to hit the target in 7 ogut of 4 shat,
whereas another person is known to hit the target in 2
out of 3 shots. Find the probability of the target being
hit at all when they both try. 16

o s @ 4 @3 o & @A @ Rz @A B P
m%mﬁwwﬁﬁaﬁﬁzmﬂﬁmﬁﬁﬁaﬁ
%mmm%urﬂa%aﬁmﬁﬁm%ﬁzéﬁ
1 i S BT

https://www.mdustudy.com

Whatsapp @ 9300930012
Send yvour old paper & get 10/-
e R 9w S s 10 I e,

Pavtm or Google Pav &

Frr 4 A TGP 20 (7)
https://www.mdustudy.com



